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log(S) | S=(Y/AY)
L* cieeas = SV/Y,)3-16 (566, Y,=18, 1<=100)
CIELAB-Normfarbwertkontrast
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Yy)
= log[(1/3) 116/¢, /3] + (1/3) log(y)
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Relative CIELAB-Helligkeit
mit Y,=18

relative normierte CIELAB-Daten
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L* cieias = SIV/Y,)M3-16 (=66, Y,=18, 1r<=100)

Relative CIELAB-Normfarbwertdifferenz
log(dY)=log( 3 (¥,/116) ) + (2/3) log{/Yy)
= log(3(Y, "3/116) + (2/3) logy)
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C/Cry =(BYIV)I(BYIY,) Normfarbwertempfindlichkeit

L* cieeas = sV/YY)*-16 (=66, Y,=18, 12/<=100)
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